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by # 73,131 172, 277 81,140 91,137 -60 -100 40
H A B 20, 043 46, 716 21, 305 25, 411 -42 -36 -6
+ = 543 1,324 625 699 4 -1 5
FBAF—TH 221 580 266 314 -2 -1 -1
4BE_-TH 170 392 171 221 2 0 2
4BE=TEH 261 641 276 365 -2 0 -2
4BFMTH 341 861 415 446 -3 -1 -2
4SBERTH 230 605 272 333 0 -1 1
4BAFENRTH 467 1,052 442 610 -4 -6 2
Z B = 1,154 2,709 1,234 1,475 -8 -7 -1
FmEEfA—TH 247 600 285 315 -4 1 -5
mEMA=TH 152 398 178 220 0 0 0
£/T—TH 485 1,087 477 610 -1 -3 -4
£/ TFZTH 164 379 176 203 -2 -1 -1
£/ TF=TH 249 545 249 296 -1 -1 0
£/ THETH 329 725 341 384 0 0 0
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RAXZTEH 165 376 170 206 -4 -1 -3
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INET—TH 143 288 135 153 1 0 1
INETZTH 479 1,203 530 673 -4 -2 -2
INBT=TH 224 489 223 266 -3 0 -3
KET—TH 435 915 405 510 4 -2 6
KET—TH 556 1,244 565 679 5 0 5
KET=TH 381 831 373 458 2 -2 4
KETIUTH 369 965 439 526 2 0 2
KETRTH 297 693 342 351 -4 0 -4
KETRTH 189 530 244 286 1 0 1
KETETH 80 214 95 119 1 1 0
MARE—TH 441 1, 041 483 558 -2 -2 0
MARE_TH 441 968 452 516 2 0 2
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£E&—TH 350 801 367 434 -1 -2 -5
EAZ-TH 790 1,702 769 933 10 1 9
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WBEEFLMTH 101 251 102 149 1 0 1
A AB—TH 214 467 215 252 -4 -2 -2
WM AHB=-TH 163 399 184 215 -2 -1 -1
WAAB=TH 222 592 239 353 6 -1 7
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tEBHEER=TH 478 1,222 552 670 -1 -1 -6
tEBAHEEREMTH 482 1,149 510 639 6 1 5
tEBAHEERRATH 267 682 326 356 -1 -1 0
EmB—TH 697 1,797 837 960 3 -2 5
EBR_-TH 447 1,074 523 551 0 -1 1
tBHE—TH 443 1,050 497 553 -2 0 -2
tEBAHEZTH 358 873 395 478 -2 0 -2
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FEOR O = 14,079 33, 667 16, 009 17, 658 -3 -17 14
#E—TH 351 837 406 431 3 1 2
w’E_-TH 815 2,050 980 1,070 -9 -2 -1
#E=TH 558 1,358 624 734 6 -3 9
R#EOTH 319 127 326 401 -2 -1 -1
#ERTH 382 776 364 412 -1 -1 0
i =) 243 500 264 236 4 1 3
FHN—TH 452 1,076 529 547 1 1 0
= i = 487 1,148 510 638 0 -1 1
FH9=TH 389 997 431 566 2 -1 3
F 4 298 579 286 293 -4 0 -4
1] % 2, 306 5,414 2,685 2,729 -10 3 -13
t B E 795 1,883 878 1, 005 5 -2 7
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FILZTH 456 1,157 547 610 -3 -3 0
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FLEMTH 566 1, 441 702 739 -4 0 -4
FLAETH 191 399 199 200 -2 -2 0
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X M #h = 19, 048 42,721 20,570 22,151 -16 -24 8
b/ A 1,683 3,777 1,785 1,992 -3 -9 6
5Z-TH 773 1,373 703 670 -1 1 -2
£=TH 670 1,518 712 806 -2 0 -2
EMTH 704 1,617 791 826 3 -1 4
EETH 1,107 2,711 1,370 1, 401 -1 3 -14
a 868 2,021 943 1,078 -4 -4 0
INEA—TH 564 1,021 533 488 4 0 4
INERZTH 920 1,978 987 991 14 2 12
I BB 38 102 51 51 -2 -1 -1
RKw—TH 295 519 247 272 -2 0 -2
KHW=—TH 895 1,543 754 789 -12 0 -12
KMW=TH 553 1,127 530 597 -1 2 -3
KM@ TH 723 1,570 753 817 -2 -1 -1
KMETH 789 1,738 832 906 4 -2 6
RKMWATH 533 1,108 534 574 9 1 8
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